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12 The cumulative frequency graph summarises the annual salary, p (€ thousands), of the 60 workers.
ina factory.

D 0 20 3 4 s 6 7 8
‘Annual salary (€ thousands)

(8) Use the graph to estimate the median annual salary.

e
(b) Complete this cumulative fraquency tabl.

Annual salary,p | Cumulative
(€ thousands) frequency

p<10

p<20

p<30

p<50

p<80
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(€) Use the information in the cumulative frequency table to calculate an estimate of the mean
‘annual salary.

(©) € oo thousands [5]
(@) Explain why your estimate of the median is more reiable than your estimate of the mean.

)
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2 The police record the speed of vehicles passing a speed checkpoint.

‘The speeds are recorded in the table below.

Spocd
(smph)

‘Number of
‘vehiclos

0<s<20

5

20<s<40

40 <s<50

37

50 <s<60

a7

60 <580

3

() Calculate an estimate of the mean speed of the vehicles.

(@

mph [4]

(b) Explain why it is not possible to use the information from this table to calculale the exact

value of the mean speed.
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5 The table shows the relative frequencies of the results for a football team after a number of games.

Result of game won lost drew
Relative frequency 02 045
(a) Complete the table. 2

(b) The team lost 10 more games than they won.

How many games did the team play altogether?

(b)
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Ashop records the time taken by its customers to complete a purchase on its website.
‘The results from one day are summarised in this table.

Time taken Number of
(tminutes) customers
0<t<3 6
3<t<6 10
6<1<9 6
o<t<12 2
12<1<15 1

() Calculate an estimate of the mean time taken.

(b) Explain why itis not possible to use the information from this table to calculate
the exact valus of the mean fime taken.
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9 George is the manager of a shoe shop.
He samples 50 of his customers and asks them about the one style of shoe they would buy next.
The table shows his results.

Style of shoe Number of customers
Laced shoes 18

Boots 15
Sandals 8

Trainers

Other

George buys 1000 pairs of shoes with the number of each style based on his survey resuls.

How many pairs of sandals should he buy?
Wiite down any assumption you make about his sample.
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The number of goals scored by 20 players in a season is shown.

Number of goals | Frequency | Midpoint
Otod 6
5109 11
101014 3
Total = 20

Work out an estimate of the mean number of goals per player.

Give your answer as a decimal.
[3 marks]

Answer
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9 (a)

ENC)

In a sport, injury time is added time played at the end of a match.
‘The table shows the injury time,  (minutes) played in 380 matches.

Injury time, £ (minutes) Frequency
o<i<2 59
2<1<4 158
4<1<6 106
6<i<8 45
8<i<10 12

Circle the two words that describe the data.

11 mark]
continuous discrete grouped ungrouped
Which class interval contains the median?
‘You must show your working.
[2 marks]
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9 (c)  Whatpercentage of the matches had more than 6 minutes of injury time?
[2 marks]

Answer %
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12

Abiased coin s thrown 250 times.
The relative frequency of Heads is worked out after every 50 throws.

Total number of throws | 50 | 100 | 150 | 200 | 250
Relative frequency 04 | 020 | 04 | 032 | 03
Circle the best estimate of the probability of Heads.
11 mark]
03 032 0342 04
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17

Afactory makes kettles.

Four samples of kettes are tested for fault.

Each sample has size 200

Here are the relative frequencies of faulty ketties in the samples.

Sample 3

a

R

Rolative froquency |  0.03

0035

0015

001

‘Work out the range of the number of fauly keties in the four samples.

[3 marks]
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8 (b)

Kim works at an airport in the UK.
‘She records the number of planes landing between 10 am and 2 pm each day.

“The table shows the data fo the first 10 days in January.

by |1 2 3 4 5 & 7 8 8 1

Number of planes | 148 151 147 155 153 147 155 102 151 154

‘The aifport was affected by fog on one of the days.
Which day do you think it was?

Give a reason for your answer.
11 mark]

Day
Reason

Kim uses the data o predict how many planes wil land at the aifport in a year.

In her method, she.
uses an estimate of 150 planes in each 4-hour period throughout the day
assumes the same number of planes each day.

Work out her preciction.
13 marks)
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8 (o)

Infact,
fewer planes land in winter than in summer
fewer planes land at night than during the day.

What does this tellyou about Kim's prediction?
Tick one box.

Her prediction s 100 low

Her prediction s too high

Her prediction could be too low or too high

Give a reason for your answer.

[2marks)
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8 A coin is thrown 50 times.
It lands on heads 31 times.

8 (a)  Wite down the relative frequency it lands on heads.
[1 mark]

Answer

8 (b) Rajsays,
“The coin is biased towards heads.”

Use the data to give a reason why he might be correct.
[1 mark]
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‘The table shows information about the distances walked by 120 students on their way to

school one week.

Distance, x (miles) | Frequency
0<x<5 20
5<x<10 a8
10<x<15 20
15<x<20 2

Work out an estimate for the mean distance.

13 marks)

miles




image23.png
Here is some information about the times taken by 40 people to fill in a form.

In which class interval is the median?

Circle your answer.

0<r<5

Time, fminutes | Number of people
0<r<5 3
5<t<10 9
10<r<15 1

15 <1< 20 17
5<1<10  10<r<15

15 <1< 20

[1 mark]
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The table shows information about the times for 10 people to complete a task.

Time, ¢ (minutes) | Frequency
0<1<20 1
20<1<40 6
40<1<60 3

These statements are about the mean and range of the actual times.

Tick the correct box for each statement.
[4 marks]

True False

‘The mean could be less than 20 minutes

‘The mean could be more than 40 minutes.

‘The mean could be less than 40 minutes

‘The range could be more than 40 minutes

‘The range could be less than 40 minutes

‘The range could be more than 60 minutes
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Here is some information about the number of books read by a group of people in 2014

‘One of the frequencies s missing.
Numbor of books | Froquency | Midpoint
0-4 . 2
59 7
1014 2 2
519 0 7

Midpoints are used to work out an estimate for the mean number of books read.

The answeris 85

‘Work out the missing fequency.

15 marks]
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(b) Find an esimate for the lower quartile of the tmes taken (© inish the puzze.

(Total for Question 17 s 4 marks)
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16 The tble shors nformarion sbout the tmes ke by 100 pecpe na fm .
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18 The owners of a car park recordsd the mumber of cars parked at 12 noon each dsy.
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